MATHS

NCERT - NCERT MATHS(TELUGU)

RATIO AND PROPORTION

1. Express the following in their simplest form -

2:3

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wWEIMEqFuJcd

2. Express the following in their simplest form

-16: 20

o Watch Video Solution

3. Express the following in their simplest form

-5:06

o Watch Video Solution



https://dl.doubtnut.com/l/_wWEIMEqFuJcd
https://dl.doubtnut.com/l/_M66ytiE9VG60
https://dl.doubtnut.com/l/_5Px50e8z2xi5

4. Express the following in their simplest form

20: 60

o Watch Video Solution

5. Express the following in their simplest form

8:15

o Watch Video Solution



https://dl.doubtnut.com/l/_xzWa5WsmGiB4
https://dl.doubtnut.com/l/_cFvjKF9zmJsB

6. Express the following in their simplest form

-19:2

° Watch Video Solution

7. A bag contains 20kg of rice and another bag
contains 60 kg of wheat. Find the ratio of the

amount of rice to that of wheat ?

° Watch Video Solution



https://dl.doubtnut.com/l/_pttxjiM5wtDx
https://dl.doubtnut.com/l/_yQdoOeb8ROdi

8. Suppose there are 32 students in a class of
which 12 are girls. Find : The ratio of number

of boys to the number of girls.

o Watch Video Solution

9. Suppose there are 32 students in a class of
which 12 are girls. Find : The ratio of nhumber

of boys to total number of students.

o Watch Video Solution



https://dl.doubtnut.com/l/_Pf3FadiHpKjW
https://dl.doubtnut.com/l/_rGq745D2FOKC
https://dl.doubtnut.com/l/_bJwJ6oMNkpXy

10. Suppose there are 32 students in a class of
which 12 are girls. Find : The ratio of number

of girls to total number of students.

o Watch Video Solution

11. Draw a four sided closed figure and divide it
into some number of equal parts. Shade the
figure with any colour so that the ratio of
shaded parts to unshaded parts 1:3. Draw

two more different figure and do the same.

o Watch Video Solution



https://dl.doubtnut.com/l/_bJwJ6oMNkpXy
https://dl.doubtnut.com/l/_DmW5zmyChYQf

12. Imran bought 2 Liters of oil and vijay
bought 500ml of oil. Find the ratio of
quantities of oil bought by Imarn to oil

bought by Vijay.

o Watch Video Solution

13. Weight of Abraham is 20kg and his father's

weight is 60 kg. Find the ratio weight of


https://dl.doubtnut.com/l/_DmW5zmyChYQf
https://dl.doubtnut.com/l/_2rdcFLoNcDTW
https://dl.doubtnut.com/l/_CDluKyIhNufx

Abraham and his father. Express it in the

simplest form.

° Watch Video Solution

14. Ramu spent gth of his money on a story

book. Find the ratio of money spent to the

money with him at the begnning.

° Watch Video Solution



https://dl.doubtnut.com/l/_CDluKyIhNufx
https://dl.doubtnut.com/l/_UGtwJcFUtQEN

15. A bag of 25 marbles is shared between
Rahul and Kiran in the ratio of 2: 3 - How many

marbles does kiran receive ?

o Watch Video Solution

16. A bag of 25 marbles is shared between
Rahul and Kiran in the ratio of 2: 3 - How many

marbles does Rahul receive ?

o Watch Video Solution



https://dl.doubtnut.com/l/_3pWp4Sj4QeY8
https://dl.doubtnut.com/l/_G0ECt7ymW47R
https://dl.doubtnut.com/l/_88c0b1Th2c0V

17. A point X on AB = 14cm divides it in the

ratio of 3: 4. Find the length of Ax and XB.

° Watch Video Solution

18. Geeta and Laxmi won ¥ 1050 in a game.
They agreed to share the amount in the ratio

of 3: 4. How much does each person receive ?

° Watch Video Solution



https://dl.doubtnut.com/l/_88c0b1Th2c0V
https://dl.doubtnut.com/l/_ALPF5WGqb3Ll

19. Divide ¥ 3600 between Satya and Vishnu in

the ratio of 3: 5.

o Watch Video Solution

20. Two numbers are in the ratio 5:6. If the

sum of the numbers is 132. Find the two

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_gMC99nICgIGp
https://dl.doubtnut.com/l/_CmfyGLve97oO

21. The ratio of income and savings of an
employee is 11:2. His expenditure is Rs. 5346.

Find his savings.

o Watch Video Solution

22. If three apples cost ¥ 45, how much would

five apples cost ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZM7SABWuysM9
https://dl.doubtnut.com/l/_sXDWJFexGjDW

23. Laxmi bought 7 books for a total of ¥ 56.

How much would she pay for just 3 books ?

° Watch Video Solution

24. Reena wants to prepare vegetable pulao,
she needs 300 gms of rice, if she has to feed 4
people. How much of rice be needed if the

same pulao is prepared for 7 people ?

o Watch Video Solution



https://dl.doubtnut.com/l/_r9j55CAHxiaZ
https://dl.doubtnut.com/l/_a3aNIRDPsVRW
https://dl.doubtnut.com/l/_70OGHiTYkT2u

25. The cost of 16 chairs is ¥ 3600. Find the
number of chairs that can be purchased for

4500.

o Watch Video Solution

26. A train moving at a constant speed covers
distance of 90 km in 2 hours. Find the time
taken by the train to cover a distance of 540

km at the same speed.

° Watch Video Solution



https://dl.doubtnut.com/l/_70OGHiTYkT2u
https://dl.doubtnut.com/l/_oO7nEufjKhr4

27. The income of kumar for 3 months is

15000. If he earns the same amount for a

month - How much will he earn in 5 months ?

o Watch Video Solution

28. The income of kumar for 3 months is ¥
15000. If he earns the same amount for a
month - In how many months will he earn ?

95000 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_5i8dl8ntIb2n
https://dl.doubtnut.com/l/_DI9gg3lUTvAe

29. If the cost of 7 meters of cloth is Rs. 294.

Find the cost of 5m of cloth.

o Watch Video Solution

30. A framer has sheeps and cows in the ratio
8:3 - How many sheeps has the farmer, if he

has 180 cows ?

o Watch Video Solution



https://dl.doubtnut.com/l/_DI9gg3lUTvAe
https://dl.doubtnut.com/l/_imvDQQ7fRu7u
https://dl.doubtnut.com/l/_QxH0XYU6md7N
https://dl.doubtnut.com/l/_F5gU2ACUR8DH

31. A framer has sheeps and cows in the ratio
8:3 - Find the ratio of the number of sheeps

to the total number of animals the farmer has.

o Watch Video Solution

32. A framer has sheeps and cows in the ratio
8:3 - Find the ratio of the total number of
animals with the farmer to the number of

cows with him.

o Watch Video Solution



https://dl.doubtnut.com/l/_F5gU2ACUR8DH
https://dl.doubtnut.com/l/_yV5uBGckPARE
https://dl.doubtnut.com/l/_dOCTxMIgmqaD

33. The temperature has dropped by 15 degree
celsius in the last 30 days. If the rate of
temperature drop remains the same, how
much more will be the temperature drop in

the next 10 days ?

° Watch Video Solution

- 15 [] 10 []
34.Fill in the bIank:l—8 - — =_ =

° Watch Video Solution



https://dl.doubtnut.com/l/_dOCTxMIgmqaD
https://dl.doubtnut.com/l/_4rRoRkJesu8D
https://dl.doubtnut.com/l/_xz2sh1nGHsqz

35. There are 45 persons working in an office.
The number of females is 25 and the
remaining are males. Find the ratio of - The

number of females to the number of males.

o Watch Video Solution

36. There are 45 persons working in an office.
The number of females is 25 and the
remaining are males. Find the ratio of - The

number of males to the number of females.

o Watch Video Solution



https://dl.doubtnut.com/l/_xz2sh1nGHsqz
https://dl.doubtnut.com/l/_HLDNGmJILoWx

37. what is the ratio of green to yellow sweets?

Yellow ild4 | 6

L

E

Green 6 |12

v
24

—

Total Sweets | 8 | § | 24

41

o Watch Video Solution

38. if you have 8 yellow sweets in the medium

sized bag, how many will

be vyellow?

Yellow ild | 6

L)

Green |6 |12 | il

iv
24

—

Total Sweets | 8 | & | 24

4



https://dl.doubtnut.com/l/_HLDNGmJILoWx
https://dl.doubtnut.com/l/_Pl91RemJDmtX
https://dl.doubtnut.com/l/_VDCBKmAmvxWR

° Watch Video Solution

39. if there are 32 sweets in the medium sized

bag,How many will be yellow
Yellow |i|4 |6 |iv]|wv
Green 6|12 | i | 24 | —
Total Sweets | & | @i (24 | — | 40

o Watch Video Solution

40. in the super fat size bag there are 40

sweets. How many will be the green.


https://dl.doubtnut.com/l/_VDCBKmAmvxWR
https://dl.doubtnut.com/l/_Q16hW5iP1Ebh
https://dl.doubtnut.com/l/_3HCAAKvj3pqr

Yellow ild4 ]| 6

Total Sweets | 8 | & | 24

4

o Watch Video Solution

41. In the sweet bowl if there are 16 yellow

sweets. How many total sweets are in the bowl

Yellow i|ld4 |6 v | v
Green 6 |12 | i | 24 | —
Total Sweets | 8 | i |24 | — | 40

° Watch Video Solution



https://dl.doubtnut.com/l/_3HCAAKvj3pqr
https://dl.doubtnut.com/l/_ESSiAYSAoVzc
https://dl.doubtnut.com/l/_hP4rsxId1DNQ

42. what is the ratio of girls to boys

Cairls
Bo

Total

o Watch Video Solution

43. In a school survey it was found that for

every 4 girls there are 5 boys. In class of 27


https://dl.doubtnut.com/l/_hP4rsxId1DNQ
https://dl.doubtnut.com/l/_BZU8CgjxFRES

children in a class. How many would be girls.

Cairls

o Watch Video Solution

44. In a school survey it was found that for
every 4 girls there are 5 boys.If there are 54

children in a class. How many are boys.

Cairls



https://dl.doubtnut.com/l/_BZU8CgjxFRES
https://dl.doubtnut.com/l/_MN6a8W8vSV9k

° Watch Video Solution

45, If 20 girls join in a year. How many boys

would

join?

o Watch Video Solution



https://dl.doubtnut.com/l/_MN6a8W8vSV9k
https://dl.doubtnut.com/l/_FA0LONIEchls

46. Fill in the Blanks - Two quantities of the

same units are called ..o,

o Watch Video Solution

47.Fill in the Blanks : In 5: 8, the consequent is

o Watch Video Solution



https://dl.doubtnut.com/l/_AdqkKnVhnf2Q
https://dl.doubtnut.com/l/_Hd4kQvIwXmP7

48. Fill in the Blanks : The simplest form of

125: 75 0S oovecerrrnennne

o Watch Video Solution

49, Fill in the Blanks - The ratio of week and

MONtA 2 e

o Watch Video Solution



https://dl.doubtnut.com/l/_knvc8MPtFjDw
https://dl.doubtnut.com/l/_36535EctNKJm

50. Fill in the Blanks - The ratio of 650 gms : 2

o Watch Video Solution

51. There are 650 in a school. Out of them 375

are girls. What is the ratio of boys to girls ?

o Watch Video Solution



https://dl.doubtnut.com/l/_aelKoIxsjV3q
https://dl.doubtnut.com/l/_G1EUDta59IcR

52.There are 650 in a school. Out of them 375
are girls. What is the ratio of boys to the total

students ?

o Watch Video Solution

53. The length of a line is 28 cm, if the line is
divided in the ratio of 4:3, then find the

length of both the parts.

o Watch Video Solution



https://dl.doubtnut.com/l/_nAc3yI7XLsx0
https://dl.doubtnut.com/l/_8XgffoAps4no
https://dl.doubtnut.com/l/_aV4zrFzT7bgS

54. Lakshmi is 11 years old. Her mother's age is

4 times to her's. What is the age of the mother

?

o Watch Video Solution

55. Write the equivalent ratios (4) of the given

ratio 7:9.

o Watch Video Solution



https://dl.doubtnut.com/l/_aV4zrFzT7bgS
https://dl.doubtnut.com/l/_ZYGwUOWIcQVh

56. Naveen read 27 pages of the book in one
day. Praveen read 18 pages of the same book in
one day and If the book has 540 pages,then
how many days does each take to read the

book?

o Watch Video Solution

57. A Gold smith mixes gold and copper in the

ratio of 5:2 to prepare an ornament. If the


https://dl.doubtnut.com/l/_aUOmUc1POnt8
https://dl.doubtnut.com/l/_h396ftYPeyE0

ornament weights 105 gms. Find the weight of

gold and copper in it.

° Watch Video Solution

58. In a mathematical class the ratio of the
boys to the girls is 3:2. If the difference in the
number of boys to girls is 18. Find the number

of boys.

o Watch Video Solution



https://dl.doubtnut.com/l/_h396ftYPeyE0
https://dl.doubtnut.com/l/_PjJRbjfW3AGl

59. In a mathematical class the ratio of the
boys to the girls is 3:2. If the difference in the
number of boys to girls is 18: Find the number

of girls.

o Watch Video Solution

60. In a mathematical class the ratio of the
boys to the girls is 3:2. If the difference in the
number of boys to girls is 18. Find the total

number of students.

| & I


https://dl.doubtnut.com/l/_RxOmej8aMGHm
https://dl.doubtnut.com/l/_SUHtJIG8Ytus

| ¥ Watch Video Solution |

61. The length of your Mathematics text book
27 cm, and its breadth 18 cm. Find the ratio of

the length to its breadth.

o Watch Video Solution

62. The weight of 14 instrumental boxes is 6.3

kg. Find the weight 20 similar boxes.

o Watch Video Solution



https://dl.doubtnut.com/l/_SUHtJIG8Ytus
https://dl.doubtnut.com/l/_oFRlZYLQwc3o
https://dl.doubtnut.com/l/_XOrVVtIq6Yho

63. The volvo moving at a constant speed
covers a distance of 120 km in 2 hours. Find
the time taken by the bus to cover a distance

of 570 km at the same speed.

° Watch Video Solution

64. Arrange the following numbers to form

proportionality - 7, 4, 8, 14

o Watch Video Solution



https://dl.doubtnut.com/l/_D4E2etAeJEDG
https://dl.doubtnut.com/l/_KOjFqxSgthFn
https://dl.doubtnut.com/l/_DE6fTmA3FR4v

65. Arrange the following numbers to form

proportionality - 6, 10, 9, 15

o Watch Video Solution

66. Express the ratio in it's simplest form :- Rs.

7.50:Rs. 10

o Watch Video Solution



https://dl.doubtnut.com/l/_DE6fTmA3FR4v
https://dl.doubtnut.com/l/_rbEYzFMXEQUh

67. Find the ratios in the simplest form :- 3.6

km : 1800 m

o Watch Video Solution

68. Express the ratio in it's simplest form :- 5.2

It : 650 ml

o Watch Video Solution



https://dl.doubtnut.com/l/_6n1ukPmKEXDi
https://dl.doubtnut.com/l/_EDbezjq2LZOt

69. If 4, x,12, 15 are in proportion. Find the

value of x.

° Watch Video Solution

70. The expenditure for 18 students in a hostel
per month is ¥ 2700. If the expenditure in a
month is raised to ¥ 3300, how many more

students are joined in that month ?

o Watch Video Solution



https://dl.doubtnut.com/l/_pzRZZYX4Y2BS
https://dl.doubtnut.com/l/_XTTe88061ycX
https://dl.doubtnut.com/l/_aJ7iWb4ExSW1

71.1f a road roller makes 120 rotations to cover
720 mts of distance, how many rotations does

it make to cover 3 km of distance ?

o Watch Video Solution

72.Form the figure,find the ratio : Rectangle to

squares

° Watch Video Solution



https://dl.doubtnut.com/l/_aJ7iWb4ExSW1
https://dl.doubtnut.com/l/_UiWmXog9px8e

73. Form the figure,find the ratio : Circles to

/>
4..

triangles

° Watch Video Solution

74. Write the equivalent ratios of the following

ratios-5: 7



https://dl.doubtnut.com/l/_b67WNXT7rXs5
https://dl.doubtnut.com/l/_2MXtWaUScREm

\ o Watch Video Solution

75. Write the equivalent ratios of the following

ratios - 3: 8

° Watch Video Solution

76. Padmaja earns ¥ 24000 a month, out of
which she expends
¥ 18000 and the remaining she saves. Find the

ratio of earnings to expenditure

| & ]


https://dl.doubtnut.com/l/_2MXtWaUScREm
https://dl.doubtnut.com/l/_kwnJNJ38fgR0
https://dl.doubtnut.com/l/_CcLXzqSUlUgU

| ' Watch Video Solution |

77. Padmaja earns ¥ 24000 a month, out of
which she expends
¥ 18000 and the remaining she saves. Find the

ratio of savings to expenditure.

° Watch Video Solution

78. The room is painted with green and yellow

in the ration of 2: 5 and if the total area of the


https://dl.doubtnut.com/l/_CcLXzqSUlUgU
https://dl.doubtnut.com/l/_c2pwTG8OCTv6
https://dl.doubtnut.com/l/_TE6sZw1S0Cij

four walls 280 sq. mts. Find areas with

different colours.

° Watch Video Solution

79. Divide 20 apples between A & B persons in

3: 2 ratio.

o Watch Video Solution

80. If p,q,7,s are in proportion, show the

relationship between them.


https://dl.doubtnut.com/l/_TE6sZw1S0Cij
https://dl.doubtnut.com/l/_fLGWcSaEmVe0
https://dl.doubtnut.com/l/_SG8RQdBnl2xF

° Watch Video Solution

81.The inverseratioof a: b is ...

° Watch Video Solution

82. In the equivalent ratio of 7:9, If the

consequent is 63, Find the Antecedent.

o Watch Video Solution



https://dl.doubtnut.com/l/_SG8RQdBnl2xF
https://dl.doubtnut.com/l/_MgEKKmrdYejl
https://dl.doubtnut.com/l/_FghpskBbhpZI

1. Rafi has 16 red marbles and 4 blue marbles.

Find the ratio of red marbles to blue marbles

Rafi has ?

° Watch Video Solution

2.In a mathematics class there are 16 boys and
20 girls. Find the ratio of number of boys to
the number of girls and express it in the

simplest form.


https://dl.doubtnut.com/l/_Oc3fOAfkfY84
https://dl.doubtnut.com/l/_mTwjWtA7DBT3

° Watch Video Solution

3. On Snigdha's birthday, her father brought a
flower bouquet that contain 18 flowers in all.If
the ratio of red flowers to yellow is 1: 2. Find

their number.

o Watch Video Solution

4. A goldsmith mixes gold and copper in the

ratio 7:2 to prepare an ornament. If the


https://dl.doubtnut.com/l/_mTwjWtA7DBT3
https://dl.doubtnut.com/l/_BKzumFUsZFXU
https://dl.doubtnut.com/l/_G7nctPhl2hoN

ornament weighs 45gms, find the weight of

gold and copper in it.

° Watch Video Solution

5. Line segment AB is divided into five equal

parts.

[

As

L ]
[ ]

In what ratio does X divides line segment AB?

o Watch Video Solution



https://dl.doubtnut.com/l/_G7nctPhl2hoN
https://dl.doubtnut.com/l/_TTWzLjOhJQ9a

6. Line segment AB is divided into five equal

parts.

L Eart

. +B

A= * -

If the length of the line segment AB is 15 cm,
find the length of the line segments AX and

XB.

o Watch Video Solution

7. Hari and Teja won a Lottery, which they

agreed to share in the ratio of 5:3. If Teja


https://dl.doubtnut.com/l/_miy4uBdOM9X8
https://dl.doubtnut.com/l/_Ow8nopUN9QeL

received Rs150, how much did Hari receive?

Also find the total amount.

° Watch Video Solution

8. Raju and Bharath add their money and
bought 20 pencils. Raju contributed Rs12 and
Bharath Rs18. They wanted to distribute the
pencils between them.

(i) Bharath said 10 pencils for each

(i) Raju said 12 pencils for Bharath and 8


https://dl.doubtnut.com/l/_Ow8nopUN9QeL
https://dl.doubtnut.com/l/_5FmUZKOCN8SP

pencils for him.

Who is correct? justify your answer.

° Watch Video Solution

9. If the cost of 12 pencils is Rs 24, then find

the cost of 10 pencils.

o Watch Video Solution

10. If the cost of 6 bottles of juice is Rs 210,

then what will be the cost of 4 bottles of


https://dl.doubtnut.com/l/_5FmUZKOCN8SP
https://dl.doubtnut.com/l/_fPR3ifgboLsr
https://dl.doubtnut.com/l/_vJ9C5XfUmiJe

juice?

o Watch Video Solution

11. Rafi has 16 red marbles and 4 blue marbles.

Find the ratio of red marbles to blue marbles

Rafi has ?

o Watch Video Solution

12. In a mathematics class there are 16 boys

and 20 girls. Find the ratio of number of boys


https://dl.doubtnut.com/l/_vJ9C5XfUmiJe
https://dl.doubtnut.com/l/_TzEO2Ng0LdWq
https://dl.doubtnut.com/l/_jMcdlzhDD9n2

to the number of girls and express it in the

simplest form.

° Watch Video Solution

13. On Snigdha's birthday, her father brought a
flower bouquet that contain 18 flowers in all.If
the ratio of red flowers to yellow is 1: 2. Find

their number.

o Watch Video Solution



https://dl.doubtnut.com/l/_jMcdlzhDD9n2
https://dl.doubtnut.com/l/_CqkMyyxrzzsx

14. A Gold smith mixes gold and copper in the
ratio of 5:2 to prepare an ornament. If the
ornament weights 105 gms. Find the weight of

gold and copper in it.

o Watch Video Solution

15. Line segment AB is divided into five equal
parts.

X

A - = = =  sh

In what ratio does X divides line segment AB?

| & I


https://dl.doubtnut.com/l/_RaE95AbyW7xW
https://dl.doubtnut.com/l/_Zt064j1tsax9

| ¥ Watch Video Solution |

16. Line segment AB is divided into five equal

parts.

L

A= * -

If the length of the line segment AB is 15 cm,
find the length of the line segments AX and

XB.

° Watch Video Solution



https://dl.doubtnut.com/l/_Zt064j1tsax9
https://dl.doubtnut.com/l/_1SccqeFCa081

17. Hari and Teja won a Lottery, which they
agreed to share in the ratio of 5:3. If Teja
received Rs150, how much did Hari receive?

Also find the total amount.

o Watch Video Solution

18. Raju and Bharath add their money and
bought 20 pencils. Raju contributed Rs12 and
Bharath Rs18. They wanted to distribute the

pencils between them.


https://dl.doubtnut.com/l/_QJXVnLwB4HkS
https://dl.doubtnut.com/l/_8oK7JDPxw1Ee

(i) Bharath said 10 pencils for each
(i) Raju said 12 pencils for Bharath and 8
pencils for him.

Who is correct? justify your answer.

° Watch Video Solution

19. If the cost of 12 pencils is Rs 24, then find

the cost of 10 pencils.

o Watch Video Solution



https://dl.doubtnut.com/l/_8oK7JDPxw1Ee
https://dl.doubtnut.com/l/_bO1rAWpc6UmD

20. If the cost of 6 bottles of juice is Rs 210,
then what will be the cost of 4 bottles of

juice?

o Watch Video Solution

1. In the given figure, find the ratio of

Shaded parts to unshaded parts


https://dl.doubtnut.com/l/_w7S3wQ8RYSh0
https://dl.doubtnut.com/l/_aq1s4ooPJzF0

o Watch Video Solution

2.In the given figure, find the ratio of

Shaded parts to total parts


https://dl.doubtnut.com/l/_aq1s4ooPJzF0
https://dl.doubtnut.com/l/_n9GyQ5DutGI4

o Watch Video Solution

3.In the given figure, find the ratio of

Unshaded parts to total parts


https://dl.doubtnut.com/l/_n9GyQ5DutGI4
https://dl.doubtnut.com/l/_MKe9GlOgrLCV

o Watch Video Solution



https://dl.doubtnut.com/l/_MKe9GlOgrLCV

4. Complete the following tables

Ratio it ol = 5
1 time 1:2
2 times 4:0
3 tumes 1521
4 times 12:16
5 tumes 20:25

o Watch Video Solution

5.1n the following figures, express the ratio of

shaded parts to unshaded parts in the


https://dl.doubtnut.com/l/_TwGMlQ8WbEBO
https://dl.doubtnut.com/l/_KEVaP1yYNBL6

simplest terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_KEVaP1yYNBL6

6.1n the following figures, express the ratio of
shaded parts to unshaded parts in the

simplest terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_DIiEg2aaCBK4
https://dl.doubtnut.com/l/_1OfMgW0FB1E4

7. In the following figures, express the ratio of
shaded parts to unshaded parts in the

simplest terms.

o Watch Video Solution

8.In the following figures, express the ratio of

shaded parts to unshaded parts in the


https://dl.doubtnut.com/l/_1OfMgW0FB1E4
https://dl.doubtnut.com/l/_lP8btGyAzbCA

simplest terms.

o Watch Video Solution

9.In the following figures, express the ratio of

shaded parts to unshaded parts in the


https://dl.doubtnut.com/l/_lP8btGyAzbCA
https://dl.doubtnut.com/l/_EOjO5RDAGu2b

simplest terms.

° Watch Video Solution

10. In the following figures, express the ratio of

shaded parts to unshaded parts in the


https://dl.doubtnut.com/l/_EOjO5RDAGu2b
https://dl.doubtnut.com/l/_HQf0HWYjID00

simplest terms.

o Watch Video Solution

11. Express each of following decimals in the %

form

0.125



https://dl.doubtnut.com/l/_HQf0HWYjID00
https://dl.doubtnut.com/l/_kqSiFZOGCEyq

Watch Video Solution

12. In the given square rule paper with 5
squares, colour 3 squares red and 2 squares
green.

If 10 squares are given, find how many are to
be red and how many of them are to be green
so that it becomes proportionate to the
figure.

If there are 15 squares then colour them


https://dl.doubtnut.com/l/_kqSiFZOGCEyq
https://dl.doubtnut.com/l/_iY1eUWFN2DUe

accordingly.

° Watch Video Solution



https://dl.doubtnut.com/l/_iY1eUWFN2DUe

13. Observe the example and fill in the blanks

) : ,
Observe the example and J
fill in the blanks.
S. No | First Second | Comparing Ratio | Comparisonby | Ratio
Quantity| Quantity | statement changing
the order
1 2 apples | 6 apples | Apples in the first 1:3 | Applesin the = |
basket arc one-third second basket
of the apples in the are 3 times the
sccond basket, apples in the
first basket.

2 500gof | 1000gof

Copper | Iron

3 Costof | Costofa
T-Shirt Coat
200 T1000

o Watch Video Solution

14. In the given figure, find the ratio of

Shaded parts to unshaded parts


https://dl.doubtnut.com/l/_Lr4uxJvabsUq
https://dl.doubtnut.com/l/_amEqC3gvROPV

o Watch Video Solution

15.In the given figure, find the ratio of

Shaded parts to total parts


https://dl.doubtnut.com/l/_amEqC3gvROPV
https://dl.doubtnut.com/l/_k7630nKsnYq1

o Watch Video Solution

16. In the given figure, find the ratio of

Unshaded parts to total parts


https://dl.doubtnut.com/l/_k7630nKsnYq1
https://dl.doubtnut.com/l/_fArGCffSGpuP

° Watch Video Solution

17. In the following figures, express the ratio of

shaded parts to unshaded parts in the


https://dl.doubtnut.com/l/_fArGCffSGpuP
https://dl.doubtnut.com/l/_ZHPeS2ljTCfs

simplest terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZHPeS2ljTCfs

18. In the following figures, express the ratio of
shaded parts to unshaded parts in the

simplest terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_rXBc2zj349zE
https://dl.doubtnut.com/l/_G3aAj0Iiz0k7

19. In the following figures, express the ratio of
shaded parts to total parts in the simplest

terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_G3aAj0Iiz0k7

20. In the following figures, express the ratio
of shaded parts to total parts in the simplest

terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_X3WqBlMEZB0d
https://dl.doubtnut.com/l/_AgMmXDnY6gNf

21.In the following figures, express the ratio of
shaded parts to total parts in the simplest

terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_AgMmXDnY6gNf
https://dl.doubtnut.com/l/_IRj0HoH21Cm7

22. In the following figures, express the ratio
of shaded parts to total parts in the simplest

terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_IRj0HoH21Cm7

23. Express each of following decimals in the

P form
q

106.16

o Watch Video Solution

24. In the given square rule paper with 5
squares, colour 3 squares red and 2 squares
green.

If 10 squares are given, find how many are to

be red and how many of them are to be green


https://dl.doubtnut.com/l/_r58ksMJCR2fQ
https://dl.doubtnut.com/l/_L1JChBuXiKwg

so that it becomes proportionate to the
figure.
If there are 15 squares then colour them

accordingly.

LT T [ T ]
T T T T ]

° Watch Video Solution



https://dl.doubtnut.com/l/_L1JChBuXiKwg

1. Complete the following table.

5. No.

First quantity

Second quantity

®

oo

OO

375

@

9990909009

(i)

A

i e

(@)

L4 4 4 4 4

L4 44 4 4444

™)

° Watch Video Solution

2. Compare:

Number of blue coloured squares is


https://dl.doubtnut.com/l/_8P4lbXAnsPFB
https://dl.doubtnut.com/l/_1Br8DBzala30

times of the number of red colour squares.



https://dl.doubtnut.com/l/_1Br8DBzala30

o Watch Video Solution

3. Compare:

Number of red coloured squares is


https://dl.doubtnut.com/l/_1Br8DBzala30
https://dl.doubtnut.com/l/_efuGJh3oK3Vk

the number of blue coloured squares.

o Watch Video Solution



https://dl.doubtnut.com/l/_efuGJh3oK3Vk

4.Compare:
Find the ratio of number of blue squares to

the number of red squares.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_exaVo85shjUM

5. Solve the following:
A milk man adds 250 ml of water to 1 litre of

milk. Find the ratio of water to milk.

° Watch Video Solution

6. Solve the following:
Satya's mother bought 4 kg pulses and 50g

chilli powder. Find the ratio of weights of chilli


https://dl.doubtnut.com/l/_exaVo85shjUM
https://dl.doubtnut.com/l/_4e9ccOO0s9ds
https://dl.doubtnut.com/l/_llX9ep9OvjBC

powder to pulses. What is the ratio of weights

of the pulses to chilli powder?

° Watch Video Solution

7.Solve the following:

Rani takes 30 minutes to reach school from
home. Ismail take 1/2 an hour to cover the
same distance. Find the ratio of time taken by

Rani to the time taken by Ismail.

° Watch Video Solution



https://dl.doubtnut.com/l/_llX9ep9OvjBC
https://dl.doubtnut.com/l/_Z3HZTPQK83fj
https://dl.doubtnut.com/l/_mIZVuMHKvB2M

8. Complete the following table.

e — T —

S. No.

First quantity

Second quantity

0]

oo

OO

3:5

(®)

V9999090999009

(i)

L

o I

()

PPV

PooPePVPew

v

° Watch Video Solution

9. Compare:

Number of red coloured squares is


https://dl.doubtnut.com/l/_mIZVuMHKvB2M
https://dl.doubtnut.com/l/_4wz6ZTth4EyP

the number of blue coloured squares.

o Watch Video Solution



https://dl.doubtnut.com/l/_4wz6ZTth4EyP

10. Compare:

Number of red coloured squares is

the number of blue coloured squares.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_RQS8VTcb4DP2

11. Compare:

Find the ratio of number of blue squares to


https://dl.doubtnut.com/l/_RQS8VTcb4DP2
https://dl.doubtnut.com/l/_nCWmADcJGHYF

the number of red squares.

o Watch Video Solution



https://dl.doubtnut.com/l/_nCWmADcJGHYF

12. Solve the following:
A milk man adds 250 ml of water to 1 litre of

milk. Find the ratio of water to milk.

o Watch Video Solution

13. Solve the following:

Satya's mother bought 4 kg pulses and 50g
chilli powder. Find the ratio of weights of chilli
powder to pulses. What is the ratio of weights

of the pulses to chilli powder?

| & I


https://dl.doubtnut.com/l/_8f11cvLbIUqe
https://dl.doubtnut.com/l/_cF76tokDmpkA

| ¥ Watch Video Solution |

14. Solve the following:

Rani takes 30 minutes to reach school from
home. Ismail take 1/2 an hour to cover the
same distance. Find the ratio of time taken by

Rani to the time taken by Ismail.

o Watch Video Solution



https://dl.doubtnut.com/l/_cF76tokDmpkA
https://dl.doubtnut.com/l/_PalQQD985hns

1. Express the following ratios in their simplest

form

2:3

o Watch Video Solution

2. Express the following ratios in their simplest
form

16: 20

o Watch Video Solution



https://dl.doubtnut.com/l/_TREWXccQVPnN
https://dl.doubtnut.com/l/_IMjVe7c5s8DC
https://dl.doubtnut.com/l/_rNsbYeyuCZbh

3. Express the following ratios in their simplest

form

5:06

o Watch Video Solution

4. Express the following ratios in their
simplest form

20: 60

o Watch Video Solution



https://dl.doubtnut.com/l/_rNsbYeyuCZbh
https://dl.doubtnut.com/l/_TwElryE7qKWK
https://dl.doubtnut.com/l/_4Gl3svzIRmlK

5. Express the following ratios in their simplest

form

8:15

o Watch Video Solution

6. Express the following ratios in their simplest

form

19:2

o Watch Video Solution



https://dl.doubtnut.com/l/_4Gl3svzIRmlK
https://dl.doubtnut.com/l/_sgQJKdl5mFrl

7. A bag contains 20kg of rice and another bag
contains 60 kg of wheat. Find the ratio of the

amount of rice to that of wheat ?

o Watch Video Solution

8. Suppose there are 32 students in a class of
which 12 are girls. Find : The ratio of number

of boys to the number of girls.

o Watch Video Solution



https://dl.doubtnut.com/l/_C1eysHxgJ4fc
https://dl.doubtnut.com/l/_8i0EvklmYvpB
https://dl.doubtnut.com/l/_8iU21TvQAq2z

9. Suppose there are 32 students in a class of
which 12 are girls. Find : The ratio of number

of boys to total number of students.

o Watch Video Solution

10. Suppose there are 32 students in a class of
which 12 are girls. Find : The ratio of number

of girls to total number of students.

o Watch Video Solution



https://dl.doubtnut.com/l/_8iU21TvQAq2z
https://dl.doubtnut.com/l/_bgE9Q8qwojLO
https://dl.doubtnut.com/l/_tkTalYlZjOJO

11. Draw a four sided closed figure and divide it
into some number of equal parts. Shade the
figure with any colour so that the ratio of
shaded parts to unshaded parts 1:3. Draw

two more different figure and do the same.

o Watch Video Solution

12. Imran bought 2 Liters of oil and vijay
bought 500ml of oil. Find the ratio of
quantities of oil bought by Imarn to olil

bought by Vijay.

| = |


https://dl.doubtnut.com/l/_tkTalYlZjOJO
https://dl.doubtnut.com/l/_MNaNy5Lne5uK

I &9 Watch Video Solution I

13. Weight of Abraham is 20kg and his father's
weight is 60 kg. Find the ratio weight of
Abraham and his father. Express it in the

simplest form.

o Watch Video Solution

14. Ramu spent gth of his money on a story

book. Find the ratio of money spent to the

money with him at the begnning.


https://dl.doubtnut.com/l/_MNaNy5Lne5uK
https://dl.doubtnut.com/l/_42mki4C1FGer
https://dl.doubtnut.com/l/_Prp6brU3zI7s

° Watch Video Solution

15. Express the following ratios in their

simplest form

2:3

° Watch Video Solution

16. Express the following ratios in their

simplest form

16: 20

| |


https://dl.doubtnut.com/l/_Prp6brU3zI7s
https://dl.doubtnut.com/l/_bkyyAyimlBBI
https://dl.doubtnut.com/l/_VsHETHWPcv1h

& Wwatch Video Solution ]

17. Express the following ratios in their

simplest form

5:6

° Watch Video Solution

18. Express the following ratios in their

simplest form

20: 60

l ° Watch Video Solution


https://dl.doubtnut.com/l/_VsHETHWPcv1h
https://dl.doubtnut.com/l/_5LUDkUKvai1M
https://dl.doubtnut.com/l/_ZgjDdxiTJz7c

19. Express the following ratios in their
simplest form

8:15

° Watch Video Solution

20. Express the following ratios in their

simplest form

19: 2

° Watch Video Solution



https://dl.doubtnut.com/l/_ZgjDdxiTJz7c
https://dl.doubtnut.com/l/_zCdhkDL4UPv9
https://dl.doubtnut.com/l/_OjIjsk7x0lk3

21. A bag contains 20kg of rice and another
bag contains 60 kg of wheat. Find the ratio of
the amount of rice to that of wheat? What is

the ratio of rice to the total weight?

o Watch Video Solution

22. Suppose there are 32 students in a class of
which 12 are girls. Find : The ratio of number

of boys to the number of girls.

| €8


https://dl.doubtnut.com/l/_OjIjsk7x0lk3
https://dl.doubtnut.com/l/_D06kLYriaXTa
https://dl.doubtnut.com/l/_bltWuMvcicCM

| ¥ Watch Video Solution J

23. Suppose there are 32 students in a class of
which 12 are girls. Find : The ratio of number

of boys to total number of students.

o Watch Video Solution

24. Suppose there are 32 students in a class of
which 12 are girls. Find : The ratio of number

of girls to total number of students.

o Watch Video Solution



https://dl.doubtnut.com/l/_bltWuMvcicCM
https://dl.doubtnut.com/l/_7hr0t8TC0tnE
https://dl.doubtnut.com/l/_fyrMIMe87bhb

25. Draw a four sided closed figure and divide
it into some number of equal parts. Shade the
figure with any colour so that the ratio of
shaded parts to unshaded parts 1:3. Draw

two more different figure and do the same.

o Watch Video Solution

26. Imran bought 2 Liters of oil and vijay

bought 500ml of oil. Find the ratio of


https://dl.doubtnut.com/l/_fyrMIMe87bhb
https://dl.doubtnut.com/l/_fBGgV72IkNBN
https://dl.doubtnut.com/l/_8o8JRcHhCI0P

quantities of oil bought by Imarn to olil

bought by Vijay.

° Watch Video Solution

27. Weight of Abraham is 20kg and his father's
weight is 60 kg. Find the ratio weight of
Abraham and his father. Express it in the

simplest form.

o Watch Video Solution



https://dl.doubtnut.com/l/_8o8JRcHhCI0P
https://dl.doubtnut.com/l/_l39y1iGmlWYa

28. Ramu spent gth of his money on a story

book. Find the ratio of money spent to the

money with him at the begnning.

o Watch Video Solution

1. A bag of 25 marbles is shared between Rahul
and Kiran in the ratio of 2:3 - How many

marbles does kiran receive ?

| e |


https://dl.doubtnut.com/l/_40kurFj8snSB
https://dl.doubtnut.com/l/_7Eq2tBUYli8n

& watch Video Solution I

2. A bag of 25 marbles is shared between
Rahul and Kiran in the ratio 2: 3

How many marbles does Rahul receive?

° Watch Video Solution

3. A point X on AB = 14cm divides it in the

ratio of 3: 4. Find the length of Ax and XB.

o Watch Video Solution



https://dl.doubtnut.com/l/_7Eq2tBUYli8n
https://dl.doubtnut.com/l/_w9lLQyzke8U8
https://dl.doubtnut.com/l/_Ff3aUR2502XV

4. Geetha and Laxmi won Rs 1050 in a game.
They agreed to share the amount in the ratio

of 3:4. How much does each person receive?

o Watch Video Solution

5. Divide Rs 3600 between Satya and Vishnu in

the ratio of 3:5.

° Watch Video Solution



https://dl.doubtnut.com/l/_Xpd1bTTi4h3r
https://dl.doubtnut.com/l/_L1c621H0qkF6

6. Two numbers are in the ratio 5: 6. If the sum

of the numbers is 132. Find the two numbers.

° Watch Video Solution

7. Estimate the ratio in which X divides AB and

then check your estimation by measuring it.

A X B

o Watch Video Solution



https://dl.doubtnut.com/l/_lq17FdbgHxfK
https://dl.doubtnut.com/l/_0h5ajYmzseYZ

8. The ratio of income and savings of an
employee is 11:2. His expenditure is Rs. 5346.

Find his savings.

o Watch Video Solution

9. A bag of 25 marbles is shared between
Rahul and Kiran in the ratio of 2: 3 - How many

marbles does kiran receive ?

o Watch Video Solution



https://dl.doubtnut.com/l/_KwKTvxxGxzyR
https://dl.doubtnut.com/l/_96NhKfwVv46Q
https://dl.doubtnut.com/l/_lVJjuzshhDpr

10. A bag of 25 marbles is shared between
Rahul and Kiran in the ratio 2: 3

How many marbles does Rahul receive?

o Watch Video Solution

1. A point X on AB = 14cm divides it in the

ratio of 3: 4. Find the length of Ax and XB.

° Watch Video Solution



https://dl.doubtnut.com/l/_lVJjuzshhDpr
https://dl.doubtnut.com/l/_0Bc63iSzm7PI

12. Geetha and Laxmi won Rs 1050 in a game.
They agreed to share the amount in the ratio

of 3:4. How much does each person receive?

o Watch Video Solution

13. Divide Rs 3600 between Satya and Vishnu

in the ratio of 3:5.

° Watch Video Solution



https://dl.doubtnut.com/l/_kt8094XuMlQK
https://dl.doubtnut.com/l/_fVVycjlmmDYU

14. Two numbers are in the ratio 5:6. If the sum
of the numbers is 132, find the biggest

number.

o Watch Video Solution

15. Estimate the ratio in which X divides AB
and then check your estimation by measuring

it.

o Watch Video Solution



https://dl.doubtnut.com/l/_VFBfAJqPss89
https://dl.doubtnut.com/l/_vVBfOEYSpl4T

16. The income and savings of an employee are
in the ratio 11:2. If his expenditure is Rs. 5346

then find his income and savings.

o Watch Video Solution

Exercise 11 4

1. If three apples cost Rs45, how much would

five apples cost?

| 8 l


https://dl.doubtnut.com/l/_vVBfOEYSpl4T
https://dl.doubtnut.com/l/_GXdyWXQsG3qL
https://dl.doubtnut.com/l/_kTdxqGyF3b04

2. Laxmi bought 7 books for a total of Rs56.

How much would she pay for just 3 books?

o Watch Video Solution

3. Reena wants to prepare vegetable pulao,
she needs 300 gms of rice, if she has to feed 4
people. How much of rice be needed if the

same pulao is prepared for 7 people ?

o Watch Video Solution



https://dl.doubtnut.com/l/_kTdxqGyF3b04
https://dl.doubtnut.com/l/_5WgW972Y3swq
https://dl.doubtnut.com/l/_rpi69g0zVw3y

4. The cost of 16 chairs is ¥ 3600. Find the
number of chairs that can be purchased for

4500.

o Watch Video Solution

5. A train moving at a constant speed covers
distance of 90 km in 2 hours. Find the time
taken by the train to cover a distance of 540

km at the same speed.

| o |


https://dl.doubtnut.com/l/_rpi69g0zVw3y
https://dl.doubtnut.com/l/_cl4ukdkkBeqh
https://dl.doubtnut.com/l/_33hYIWz5hDWc

¥ Watch Video Solution ]

6. The income of kumar for 3 months is ¥

15000. If he earns the same amount for a

month - How much will he earn in 5 months ?

o Watch Video Solution

7. The income of kumar for 3 months is ¥
15000. If he earns the same amount for a
month - In how many months will he earn ?

95000 ?


https://dl.doubtnut.com/l/_33hYIWz5hDWc
https://dl.doubtnut.com/l/_9KgPbDZMrEEB
https://dl.doubtnut.com/l/_zpqOKGIRI0bC

° Watch Video Solution

8. If the cost of 7 meters of cloth is Rs 294, find

the cost of 5m of cloth.

o Watch Video Solution

9. A framer has sheeps and cows in the ratio
8:3 - How many sheeps has the farmer, if he

has 180 cows ?

o Watch Video Solution



https://dl.doubtnut.com/l/_zpqOKGIRI0bC
https://dl.doubtnut.com/l/_WU22EJt2OOSs
https://dl.doubtnut.com/l/_Fwmmix4BdQo2

10. A framer has sheeps and cows in the ratio
8:3 - Find the ratio of the number of sheeps

to the total number of animals the farmer has.

° Watch Video Solution

11. A framer has sheeps and cows in the ratio
8:3 - Find the ratio of the total number of
animals with the farmer to the number of

cows with him.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_Fwmmix4BdQo2
https://dl.doubtnut.com/l/_xVYK6IBe8i95
https://dl.doubtnut.com/l/_TbZwG85FTdXa

12. Are 3, 5, 15, 9 in proportion? If we change
their order, can we think of proportional pairs?
Write as many proportionality statements as

you can for the above example.?

° Watch Video Solution

13. The temperature has dropped by 15 degree
celsius in the last 30 days. If the rate of

temperature drop remains the same, how


https://dl.doubtnut.com/l/_TbZwG85FTdXa
https://dl.doubtnut.com/l/_z3Xi5tzpMSMS
https://dl.doubtnut.com/l/_30WHRKCtO2sz

much more will be the temperature drop in

the next 10 days ?

o Watch Video Solution

_— 15 L] 10 []
14. Fill in the bIank:l—8 - — = _ = _—

o Watch Video Solution

15. Ratio of breadth and length of a hall is 2: 5.
Complete the following table that shows some

possible breadths and lengths of the hall.


https://dl.doubtnut.com/l/_30WHRKCtO2sz
https://dl.doubtnut.com/l/_toHeTu9VH4Fk
https://dl.doubtnut.com/l/_aqO1epDVJD9p

Breadthofthehallinm) | 10 | 2 | 40
Lengthof the hall(inm) 25 | 50 | 2

Add 3 more of your choice

o Watch Video Solution

16. Express each of following decimals in the

4 form
q

97.25

o Watch Video Solution



https://dl.doubtnut.com/l/_aqO1epDVJD9p
https://dl.doubtnut.com/l/_WWtst9EHlrAv

17. Geetha earns Rs 12000 a month, out of
which she saves Rs 3000. Find the ratio of her

Expenditure to savings

o Watch Video Solution

18. Geetha earns Rs 12000 a month, out of
which she saves Rs 3000. Find the ratio of her

Savings to her income

o Watch Video Solution



https://dl.doubtnut.com/l/_XTfJcamkAgHN
https://dl.doubtnut.com/l/_KKmOai7gLoAz
https://dl.doubtnut.com/l/_qbiTDNGfjc3R

19. Geetha earns Rs 12000 a month, out of
which she saves Rs 3000. Find the ratio of her

Expenditure to her income.

o Watch Video Solution

20. There are 45 persons working in an office.
The number of females is 25 and the
remaining are males. Find the ratio of

The number of females to number of males

o Watch Video Solution



https://dl.doubtnut.com/l/_qbiTDNGfjc3R
https://dl.doubtnut.com/l/_phbhpt7inPJb

21. There are 45 persons working in an office.
The number of females is 25 and the
remaining are males. Find the ratio of - The

number of males to the number of females.

o Watch Video Solution

22. A bag of sweets contain yellow and green
sweets. For every 2 yellow sweets, there are 6
green sweets. Complete this table based on

the above information.


https://dl.doubtnut.com/l/_PssGOgSfwxRD
https://dl.doubtnut.com/l/_QKSYjbEfmSgO

Yellow

24

Total Sweets

24

40

Now answer these questions.

What is the ratio of green to yellow sweets?

° Watch Video Solution

23. A bag of sweets contain yellow and green
sweets. For every 2 yellow sweets, there are 6

green sweets. Complete this table based on

the above information.

Yellow

]

Greeen

24

Total Sweets

24

40

Now answer these questions.



https://dl.doubtnut.com/l/_QKSYjbEfmSgO
https://dl.doubtnut.com/l/_1cZWZ3p818RJ

If you have 8 yellow sweets, how many green

sweets will you have?

° Watch Video Solution

24. A bag of sweets contain yellow and green
sweets. For every 2 yellow sweets, there are 6
green sweets. Complete this table based on

the above information.

Yellow 4 6
Greeen 6 12 24
Total Sweets 8 24 40

Now answer these questions.


https://dl.doubtnut.com/l/_1cZWZ3p818RJ
https://dl.doubtnut.com/l/_CapEjt6fEqtA

If there are 32 sweets in the medium sized

bag. How many will be yellow ?

o Watch Video Solution

25. A bag of sweets contain yellow and green
sweets. For every 2 yellow sweets, there are 6
green sweets. Complete this table based on

the above information.

Yellow 4 6
Greeen 6 12 24
Total Swests 8 24 40

Now answer these questions.


https://dl.doubtnut.com/l/_CapEjt6fEqtA
https://dl.doubtnut.com/l/_DJqNG8ifdw9N

In the super fat size bag there are 40 sweets.

How many will be green ?

o Watch Video Solution

26. A bag of sweets contain yellow and green
sweets. For every 2 yellow sweets, there are 6
green sweets. Complete this table based on

the above information.

Yellow 4 [
Greeen 6 12 24
Total Swests 8 24 40

Now answer these questions.


https://dl.doubtnut.com/l/_DJqNG8ifdw9N
https://dl.doubtnut.com/l/_01zYFMrJGQJy

In the sweet bowl if there are 16 yellow sweets.

How many total sweets are in the bowl?

° Watch Video Solution

27. In a school survey it was found that for
every 4 girls there were 5 boys.

Fill in the following table.

Garls 4 8
Boys 15 20
Total 45

Now answer these questions:

What is the ratio of girls to boys?

l a Watch Video Solution


https://dl.doubtnut.com/l/_01zYFMrJGQJy
https://dl.doubtnut.com/l/_jLPDIKr6P27B

28. In a school survey it was found that for
every 4 girls there are 5 boys. In class of 27

children in a class. How many would be girls.

Cairls

o Watch Video Solution



https://dl.doubtnut.com/l/_jLPDIKr6P27B
https://dl.doubtnut.com/l/_gh95LJnnXxx0

29. In a school survey it was found that for
every 4 girls there are 5 boys.If there are 54

children in a class. How many are boys.

Cairls
Bao

Total

o Watch Video Solution

30. If 20 girls join in a year. How many boys

would join?


https://dl.doubtnut.com/l/_bWk05e7zQhmL
https://dl.doubtnut.com/l/_51tLTbcYuvAt

o Watch Video Solution

31. If three apples cost Rs45, how much would

five apples cost?

o Watch Video Solution



https://dl.doubtnut.com/l/_51tLTbcYuvAt
https://dl.doubtnut.com/l/_no3GzLSRRJhc

32. Laxmi bought 7 books for a total of Rs56.

How much would she pay for just 3 books?

° Watch Video Solution

33. Reena wants to prepare vegetable pulao,
she needs 300 gms of rice, if she has to feed 4
people. How much of rice be needed if the

same pulao is prepared for 7 people ?

o Watch Video Solution



https://dl.doubtnut.com/l/_DSzLHYXudwlE
https://dl.doubtnut.com/l/_fXWV6ozf5wII
https://dl.doubtnut.com/l/_lWs6glGlAgJc

34. The cost of 16 chairs is ¥ 3600. Find the
number of chairs that can be purchased for

4500.

o Watch Video Solution

35. A train moving at a constant speed covers
distance of 90 km in 2 hours. Find the time
taken by the train to cover a distance of 540

km at the same speed.

° Watch Video Solution



https://dl.doubtnut.com/l/_lWs6glGlAgJc
https://dl.doubtnut.com/l/_3N1wfhbH00mN

36. The income of kumar for 3 months is *

15000. If he earns the same amount for a

month - How much will he earn in 5 months ?

o Watch Video Solution

37. The income of kumar for 3 months is ¥
15000. If he earns the same amount for a
month - In how many months will he earn ?

95000 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_KRSwxigb3iTt
https://dl.doubtnut.com/l/_q7qQHGh7WHit

38. If the cost of 7 meters of cloth is Rs 294,

find the cost of 5m of cloth.

o Watch Video Solution

39. A framer has sheeps and cows in the ratio
8:3 - How many sheeps has the farmer, if he

has 180 cows ?

o Watch Video Solution



https://dl.doubtnut.com/l/_q7qQHGh7WHit
https://dl.doubtnut.com/l/_myefEAhK42tJ
https://dl.doubtnut.com/l/_TaEPpO0fbLLG
https://dl.doubtnut.com/l/_3CVZlNmikeE5

40. A framer has sheeps and cows in the ratio
8:3 - Find the ratio of the number of sheeps

to the total number of animals the farmer has.

o Watch Video Solution

41. A framer has sheeps and cows in the ratio
8:3 - Find the ratio of the total number of
animals with the farmer to the number of

cows with him.

o Watch Video Solution



https://dl.doubtnut.com/l/_3CVZlNmikeE5
https://dl.doubtnut.com/l/_biw5ZIdHKyXG
https://dl.doubtnut.com/l/_YeB4ohN2KRn5

42. Are 3, 5, 15, 9 in proportion? If we change
their order, can we think of proportional pairs?
Write as many proportionality statements as

you can for the above example.?

o Watch Video Solution

43. The temperature has dropped by 15 degree
celsius in the last 30 days. If the rate of
temperature drop remains the same, how
much more will be the temperature drop in

the next 10 days ?


https://dl.doubtnut.com/l/_YeB4ohN2KRn5
https://dl.doubtnut.com/l/_3RtlvzBbfpyD

° Watch Video Solution

_— 15 L] 10 L]
44.Fill in the bIank:l—8 - — = _ = _—

° Watch Video Solution

45, Ratio of breadth and length of a hall is 2: 5.
Complete the following table that shows some

possible breadths and lengths of the hall.

Breadth of'the hall{in m) 10 ? 40
Length of the hall(n m) 25 50 7

Add 3 more of your choice



https://dl.doubtnut.com/l/_3RtlvzBbfpyD
https://dl.doubtnut.com/l/_DPnIIhifHKWo
https://dl.doubtnut.com/l/_arxFcSoxGTde

I o Watch Video Solution

46. Express each of following decimals in the

2 form
q

96.96

o Watch Video Solution

47. Geetha earns Rs 12000 a month, out of
which she saves Rs 3000. Find the ratio of her

Expenditure to savings

r. |


https://dl.doubtnut.com/l/_arxFcSoxGTde
https://dl.doubtnut.com/l/_ubhx1lxqmxoV
https://dl.doubtnut.com/l/_OtOGE7vzz2rN

L_—_Watch Video Solution )

48. Geetha earns Rs 12000 a month, out of
which she saves Rs 3000. Find the ratio of her

Savings to her income

o Watch Video Solution

49. Geetha earns Rs 12000 a month, out of
which she saves Rs 3000. Find the ratio of her

Expenditure to her income.

o Watch Video Solution



https://dl.doubtnut.com/l/_OtOGE7vzz2rN
https://dl.doubtnut.com/l/_rlkgZVre2gFb
https://dl.doubtnut.com/l/_ctcqlDpZjSMi

50. There are 45 persons working in an office.
The number of females is 25 and the
remaining are males. Find the ratio of

The number of females to number of males

o Watch Video Solution

51. There are 45 persons working in an office.

The number of females is 25 and the


https://dl.doubtnut.com/l/_ctcqlDpZjSMi
https://dl.doubtnut.com/l/_xo1Zb4St4V1v
https://dl.doubtnut.com/l/_ELyVFu7GA4dw

remaining are males. Find the ratio of - The

number of males to the number of females.

° Watch Video Solution

52. what is the ratio of green to yellow sweets?

Yellow il 4 3 v | ¥
Green 6 |12 | il | 24 | —
Total Sweets | 8 | i |24 | — | 40

o Watch Video Solution



https://dl.doubtnut.com/l/_ELyVFu7GA4dw
https://dl.doubtnut.com/l/_yv6BK7TpHIz3

53. A bag of sweets contain yellow and green
sweets. For every 2 yellow sweets, there are 6
green sweets. Complete this table based on

the above information.

Yellow 4 [
Greeen 6 12 24
Total Sweets 8 24 40

Now answer these questions.

What is the ratio of green to yellow sweets?

o Watch Video Solution



https://dl.doubtnut.com/l/_YaUB0iZPrUJr

54. if there are 32 sweets in the medium sized

bag,How many will be yellow

Yellow ild4 |86 v | v
Green B |12 | iii 24 | —

Total Sweets | 8 | ii |24 | — | 40

o Watch Video Solution

55. A bag of sweets contain yellow and green
sweets. For every 2 yellow sweets, there are 6

green sweets. Complete this table based on

the above information.


https://dl.doubtnut.com/l/_UNWlC2DRTMOY
https://dl.doubtnut.com/l/_ByYlMTj5OhJX

Yellow

24

Total Sweets

24

40

Now answer these questions.

What is the ratio of green to yellow sweets?

° Watch Video Solution

56. A bag of sweets contain yellow and green
sweets. For every 2 yellow sweets, there are 6
green sweets. Complete this table based on

the above information.

Yellow

Gresen

24

Total Sweets

24

40



https://dl.doubtnut.com/l/_ByYlMTj5OhJX
https://dl.doubtnut.com/l/_bTFkoGx0iFCU

Now answer these questions.

What is the ratio of green to yellow sweets?

° Watch Video Solution

57. In a school survey it was found that for
every 4 girls there were 5 boys.

Fill in the following table.

Garls 4 8
Boys 15 20
Total 45

Now answer these questions:

What is the ratio of girls to boys?

l a Watch Video Solution


https://dl.doubtnut.com/l/_bTFkoGx0iFCU
https://dl.doubtnut.com/l/_eTa2mLGRHB5u

58. In a school survey it was found that for
every 4 girls there were 5 boys.

Fill in the following table.

Giirls A %
Boys 15 20
Total 45

Now answer these questions:
In a class of 27 children, how many would be

girls?

o View Text Solution



https://dl.doubtnut.com/l/_eTa2mLGRHB5u
https://dl.doubtnut.com/l/_80zMpq155lfA
https://dl.doubtnut.com/l/_BxhcTHkRXfeB

59. In a school survey it was found that for
every 4 girls there were 5 boys.

Fill in the following table.

Ciirls 4 8
Boys 15 20
Tiotal 45

Now answer these questions:
There are 54 children in a class. How many are

boys?

o View Text Solution



https://dl.doubtnut.com/l/_BxhcTHkRXfeB

60. In a school survey it was found that for
every 4 girls there were 5 boys.

Fill in the following table.

Ciirls 4 R
Buoys 15 20
Total 45

Now answer these questions:
If 20 girls join in a year. How many boys would

join?

o Watch Video Solution



https://dl.doubtnut.com/l/_SsKuk4DpyaFw

